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[10] 2.) Solve ¢y’ = w_(#%”)’ y(1) = —2
% B m Compare to 2.2: 14
Separate variables: (2y + 3)dy = &
y? + 3y = Inz| + C.
y? + 3y — In|z| — C =0.
_ —344/9-4(—Injz|-C) _ —3+,/9+4injz[+C _ —3++/Ainfz[+C
y = . _ /o _ :
General solution: y = ~3i2\/2W
IVP: y(1) =—

9 —34+2/In|1[+C _ _342,C
o 7

k _
4 =—-3+92/C. Thus —1 = £2+/C. Hence —1 = —2/C.
Thus VC = 1 and C =

. —3—-2./1 _|_l —3—92 4inlz|+1 _3_. /1 1
Hence IVP solution: y = Vznla" Ly = \/2 7} _ i 2n|w|+
—3—4/144l
Answer: y = +ain|z|
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2.) Circle the differential equation whose direction field is given below: 1y
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